g X EREARBRONT T HIHHEE I B LB A0 (HARANDHR) SERR2TAE2 A 1 H BAE
BT 4 M# % B i 3t WTOT 4 A B I 3t BT 4 M# % B i 3t
WAL T H 238 207 263 470 [T 252 215 227 442 |F U1 T H 1,380 1,097 1,161 2,258
A2 7 H 210 186 182 368 | —-EFET 345 298 341 639 [FIL2TH 3,360 2,274 3,345 5,619
3T H 256 189 211 400 (5T 44 41 48 89 [FIL3TH 471 421 415 836
A4 7TH 1,890 1,519 1,461 2,980 [HxAFHT 67 47 44 91 & /AHT 2,739 2,298 2,339 4,637
AT 239 190 208 398 | B FLEFET 966 863 973 1,836 |H AHT1 T H 2,134 1,725 1,076 2,801
=4 899 761 852 1,613 [V FdFHT 821 724 745 1,469 |EB AHT2T H 2,139 1,680 1,376 3,056
Y HT 1,339 973 1,082 2,055 |FRyEITTHT 222 192 215 407 | ABT3TH 2,406 2,378 2,776 5,154
HHE1ITH 1,263 1,159 1,196 2,355 |FEAEHRT 645 598 676 1,274 |[E AHT4T H 1,479 1,051 1,416 2,467
%%ZTE 387 321 355 676 |4&HT 336 269 336 605 | RALRLITH 1,836 1,402 1,105 2,507

#3TH 586 461 511 972 A5 T 397 388 415 803 | KAR2T H 3,677 2,915 2,650 5,565
’E,%TFHT 789 681 685 1,366 |mHT 345 354 385 739 | KASRST H 1,558 1,529 1,772 3,301
L) 886 615 765 1,380 [dbHT 486 420 478 898 [F&HRT1 T H 103 73 83 156
{EIRIT 564 396 530 926 |fFHT 491 429 459 888 |VEEFfEM1T H 2,912 2,290 2,427 4,717
FE T 1,130 998 1,117 2,115 |Fg IL{RHET 367 326 315 641 |VEiRFfEmE2T H 2,840 2,300 2,213 4,513
FEAHT 1,404 1,006 1,022 2,028 [ALiLifRmT 296 199 246 445 |FERAGH3T B 3,325 3,030 2,909 5,939
JHAT 944 633 682 1,315 |HERAT 700 570 747 1,317 |EHES1ITH 2,188 1,804 1,688 3,492
FfENT 773 583 644 1,227 | F'e bolT 135 90 111 201 |BHES2TH 1,055 851 733 1,584
KA HT 1,847 1,430 1,658 3,088 | 3klT 2,366 2,094 2,338 4,432 |EHEESSTH 3,297 2,577 2,291 4,868
85 T 147 87 143 230 | =T 495 422 452 874 |mMESH4ATH 3,276 2,788 2,615 5,403
PN T 472 420 478 898 |’& FHT 400 275 339 614 | F&A1TH 1,311 956 888 1,844
JFT 233 171 173 344 |HET 223 223 234 457 | F%E2TH 1,632 1,486 1,541 3,027
HFEl1T H 2,627 1,865 1,749 3,614 |&EnT 419 277 323 600 | F%A3TH 2,327 1,887 2,295 4,182
HE2T H 797 629 471 1,100 |#E=5HT 515 369 414 783 | F&A4TH 2,223 1,941 2,130 4,071
HE3T H 105 98 54 152 |54\ g7 553 383 521 904 | #EA1ITH 1,942 1,561 1,552 3,113
4T H 251 215 112 327 |Hr/ T 1,742 1,439 1,516 2,955 |H¥%E2TH 2,481 2,172 2,283 4,455
HFEs5T H 1,698 1,274 951 2,225 |FH3EI0] 55 0 0 0 0 EP(%/\STE 2,147 1,923 2,018 3,941
HrEe T H 2,449 1,902 1,560 3,462 | SR TFSFHT 1,788 1,377 1,444 2,821 |*H¥%E4TH 1,519 1,463 1,371 2,834
HiE7T A 3,379 2,799 2,589 5,388 | ity 818 556 647 1,203 | E%A1TH 2,890 2,438 2,400 4,838
HAEZET1I T H 173 140 66 206 Mz iT 1,055 914 1,025 1,939 | L& A2TH 2,909 2,309 2,191 4,500
WELRT2T B 1,596 1,212 629 1,841 |-k FHT 764 588 634 1,222 | E%A3TH 2,870 2,211 2,033 4,244
HAmEITITH 15 8 16 24 | Rpmy 672 493 556 1,049 |WE%A1TH 2,358 2,047 2,043 4,090
A mET2T H 326 231 341 572 |#EHT 362 287 269 556 |TE%A2T H 2,190 1,959 1,890 3,849
i mHET3T H 165 135 145 280 |FAEHET 163 125 125 250 %A 3TH 1,589 1,330 1,513 2,843
EAZNGLI} 1,630 1,434 855 2,289 |Hfig mAT 588 422 485 907 E(%/%TE 1,088 1,008 1,056 2,064
e HEITIT A 112 111 134 245 |5-Fd H FE T 444 391 413 804 |HH1TH 1,114 904 689 1,593
rh"ﬁ‘@iﬁﬂ]TZTB 224 168 224 392 |45 T 285 233 218 451 |FH2TH 1,438 1,324 1,433 2,757

A LJFET3T H 416 374 454 828 |JFHT1 T H 738 625 644 1,269 |dt# =1 T H 3,424 2,599 2,383 4,982
*"EWWT 233 217 226 443 (JHT27T H 628 579 585 1,164 [dLHE2T B 2,750 2,478 2,155 4,633
HANERT1T H 115 181 192 373 |RHET3 T H 968 756 833 1,589 |dt#HmE3T H 3,726 2,961 2,740 5,701
A INERT2T B 778 732 812 1,544 [EAF0T 980 890 867 1,757 |dt#mE4 T H 3,360 2,673 2,375 5,048
EALI=L0) 318 272 321 593 |ZEHuET 287 229 283 512 |WEFE1 T H 39 29 33 62
AR T 65 69 85 154 |77 KHT 1,672 1,404 1,434 2,838 |Fi#H1E2 T H 3 3 3 6
iR 0T 104 50 100 150 | HHT 317 318 362 680 |VE#153 T H 1,160 788 820 1,608
EAY A 30 29 23 52 |1k T 1,952 1,439 1,555 2,994 |WEHE4T B 4,467 3,421 3,067 6,488
EAIN} 223 209 230 439 [SftHT 350 276 276 552 |TEFES5 T H 2,137 1,527 1,357 2,884
DA 59 49 64 113 |/KEHT 532 383 386 769 [FEHfE6 T B 1,930 1,516 1,310 2,826
1T H 12 14 16 30 |F-Aw M e 3,053 2,487 2,409 4,896 |MEEE 7T H 1,590 1,239 894 2,133
Y2 T H 138 93 128 221 |[fEET 1,587 1,187 1,285 2,472 |WEH ST H 1,854 1,358 1,329 2,687
Y3 T H 291 214 222 436 |THA BT 718 591 583 1,174
AT AT H 97 79 92 171 (TDJWT 1,185 1,025 1,085 2,110
YT 5T H 378 311 394 705 A HAHT 2,968 2,344 2,546 4,890
Y6 T H 570 404 478 882 |4 T HT 2,224 1,869 1,879 3,748 = At 179,239 145,791 145,859 291,650
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